
https://www.leads4pass.com/3v0-752.html
2024 Latest leads4pass 3V0-752 PDF and VCE dumps Download

 

 

 

3V0-752Q&As

VMware Certified Advanced Professional 7 - Desktop and Mobility
Design Exam

Pass VMware 3V0-752 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/3v0-752.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

3V0-752 PDF Dumps | 3V0-752 VCE Dumps | 3V0-752 Study Guide                                1 / 8

https://www.leads4pass.com/3v0-752.html
https://www.leads4pass.com/3v0-752.html
https://www.leads4pass.com/3v0-752.html


https://www.leads4pass.com/3v0-752.html
2024 Latest leads4pass 3V0-752 PDF and VCE dumps Download

QUESTION 1

DRAG DROP 

A company has several applications that are being moved to a Horizon environment. An architect has been given
several application types and is designing an environment to accommodate all of the applications. 

List of applications: 

1. 

WebSeller -a cloud-based application that is single sign-on capable. 

2. 

SalesCalc -a Windows application that needs a very old version of Java and needs to be accessed offline. 

3. 

AppOffice -a group of Windows based application that needs to be deployed together to an existing View linked clone
desktop pool for the remote sales team. 

4. 

RelationCRM -a server-based application that is currently accessed via RDP. Match each application with its
appropriate deployment method. 

Select and Place: 

Correct Answer: 
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QUESTION 2

A university struggles with Windows application delivery for its students. Students only need a few applications, but
since IT is not in control of the Windows versions on the endpoints, it has been a challenge. IT wants to allow for self-
service to minimize administration. Despite self-service, IT must be able to revoke access to applications within 30 days
from students leaving the University. 

Which two solutions support the university\\'s requirements? (Choose two.) 

A. Implement Horizon with Application Publishing and User Environment Manager to control access to individual
applications. 

B. Package the applications using ThinApp and present the packages to users using VMware Identity Manager. 

C. Implement Horizon with Application Publishing and present entitlements using VMware Identity Manager. 

D. Use ThinApp to package the applications for client Operating System independence and build a simple web portal
allowing students to easily find and download the ThinApp packages. 

E. Implement only VMware Identity Manager. Its portal is a complete applications solution and students can easily
execute the Windows applications by only using a web browser. 

Correct Answer: AD 

 

QUESTION 3

A company has developed a new in-house web application supporting SAML Federation. The CIO has asked that all
sales users access the application using the single sign-on option. Users will access this application from several
different locations globally. The company has two datacenters based in the US and UK. 

Which VMware technology can an architect recommend to meet the requirements? 

A. VMware User Environment Manager 
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B. VMware App Volumes 

C. VMware Identity Manager 

D. VM ware Horizon View 

Correct Answer: D 

 

QUESTION 4

A customer is deploying Horizon View 7.1 utilizing a Cloud Prod Architecture. The customer wants to utilize 32-node
clusters, and a single vCenter at each site to support 9,500 desktops per site. 

Which two statements about this configuration are true? (Choose two.) 

A. This configuration allows all desktops at a site to be provisioned from a single master image. 

B. This configuration allows multiple pools to be grouped together using global entitlements. 

C. This configuration requires a 64-node cluster per site. 

D. This configuration exceeds the maximum supported size for a View block. 

Correct Answer: AB 

 

QUESTION 5

A customer with Horizon has decided to implement Workspace One for mobile management and Single-Sign On access
to Horizon entitlements. The customer plans to use cloud services when possible. A decision is made to use cloud-
hosted Workspace One. 

Which component must be deployed on-premises to support the scenario? 

A. Identity Manager 

B. AirWatch Cloud Connector 

C. User Environment Manager 

D. Identity Manager Connector 

Correct Answer: A 

Reference: http://docs.hol.vmware.com/HOL-2019/hol-1951-01-vws_pdf_en.pdf 

 

QUESTION 6

The CIO of a company has asked that a review of all user\\'s applications be undertaken to improve storage usage.
After the review, it was found that a number of applications are used by several different organizations within the
company. These applications are currently all installed in all of the different master images, making each of the master
images very large. 
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What VMware technology would improve storage usage? 

A. VMware FLEX 

B. VMware Mirage 

C. Horizon Published Applications 

D. VMware Identity Manager 

Correct Answer: C 

 

QUESTION 7

The finance group in a company has asked for a new application to be made available to all of the members of the
finance department. The application is currently installed on all the finance desktops, but will be moving to a cloud-
hosted model. 

What solution should the IT administrator use to manage access to the new application? 

A. Package the application using ThinApp and deploy to the finance department. 

B. Manage the application with VMware Identity Manager. 

C. Assign the new application to the finance department using App Volumes. 

D. Deploy each user a new cloud based virtual desktop. 

Correct Answer: B 

 

QUESTION 8

A customer is deploying a small Horizon View environment. It wants to minimize the number of connection servers
required for the architecture while minimizing single points of failure and simplifying the user experience. 

Which remote access method would accomplish this? 

A. Security Servers 

B. NSX load balancing 

C. VPN Tunnel 

D. Unified Access Gateway 

Correct Answer: D 

 

QUESTION 9

An architect put these statements into a design: 
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1.

 Horizon to integrate with current authentication solutions (directory services and two-factor authentication mechanisms)
for internal and external access. 

2.

 Desktop and application access and provisioning should be managed through current authentication mechanisms. 

In which design category does the scenario fit? 

A. Requirement 

B. Assumption 

C. Risk 

D. Constraint 

Correct Answer: A 

 

QUESTION 10

A company has a use case for instant clones and 3D NVIDIA video cards. The current environment consists of Horizon
7.0 and vSphere 6.5. 

In which design standard category does the scenario fit? 

A. Assumption 

B. Requirement 

C. Risk 

D. Constraint 

Correct Answer: B 

 

QUESTION 11

Which are three default network ports that need to be allowed through a firewall for a Workspace One solution
supporting Mobile Single-Sign on (SSO) for iOS and Android devices? (Choose three.) 

A. TCP 5262 

B. TCP/UDP 88 

C. TCP 8443 

D. TCP/UDP 1337 

E. TCP 443 

3V0-752 PDF Dumps | 3V0-752 VCE Dumps | 3V0-752 Study Guide                                6 / 8

https://www.leads4pass.com/3v0-752.html
https://www.leads4pass.com/3v0-752.html
https://www.leads4pass.com/3v0-752.html


https://www.leads4pass.com/3v0-752.html
2024 Latest leads4pass 3V0-752 PDF and VCE dumps Download

F. TCP 80 

Correct Answer: ABE 

Reference: https://techzone.vmware.com/resource/network-ports-vmware-horizon-7 

 

QUESTION 12

A company wants to deploy Horizon desktops with persistent disks for their power users and instant clone desktops for
their task workers. What is the minimum configuration needed? 

A. Two VMs with two snapshots of each VM. 

B. One template with two snapshots. 

C. One VM with one snapshot. 

D. Two VMs with one snapshot of each VM. 

Correct Answer: A 

 

QUESTION 13

A company is deploying VDI and needs to meet these requirements: 

1.

 Support a bring-your-own-device (BYOD) strategy 

2.

 Support external contractors 

3.

 Support access from anywhere 

4.

 Reduce or eliminate costly desktop and laptop replacement Which two solutions should an architect recommend?
(Choose two.) 

A. Deploy Airwatch. 

B. Leverage Horizon 7 clients. 

C. Deploy Horizon 7 Access Point appliances. 

D. Deploy AppVolumes. 

E. Provide Thin Clients to end-users. 

Correct Answer: BE 
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QUESTION 14

In a local design, a company selected one database instance to be shared by Horizon View Composer database,
vCenter external database, and Horizon AppVolumes database. The design must provide High Availability for all
databases. Which two database server options should be selected during physical design creation? (Choose two.) 

A. Oracle 10g 

B. Microsoft SQL Server 2014 

C. Oracle 11g 

D. Microsoft SQL Server 2012 

Correct Answer: BC 

 

QUESTION 15

A customer has made the decision to implement App Volumes. The customer has two data centers for High Availability.
VMware recommends two different deployment modes for App Volumes in a multi-site implementation. 

Which two requirements are common to all of the models? (Choose two.) 

A. Deploy a Microsoft SQL Cluster. 

B. Deploy a minimum of one App Volumes manager in each site. 

C. Ensure AppStack replication is configured. 

D. Reproduce Entitlements in both locations. 

Correct Answer: CD 
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